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1. Given these jobs with their running times, give a 2-processor schedule which is optimal with respect to mean completion time:

j1, 13

j2, 7

j3, 1

j4,  5

2. Given a set of jobs that are to be scheduled on multiple processors, if we wish to minimize final completion time (as opposed to mean completion time)... (pick one)


the problem can be solved with a greedy algorithm similar to the mean completion time algorithm.


the problem becomes NP-complete.

3-5 (-1 for each error, up to 3 off). In a Huffman code tree... (mark each one with Yes or No)


__ leaves represent character codes


__ interior nodes represent character codes


__ less frequently used characters tend to be higher up in the tree than more frequently used characters


__ the tree is full


__ the tree is complete


__ the tree is sometimes called a “trie”

6. T/F No off-line bin-packing algorithm is optimal (for all inputs).

7-8. Comparing next-fit and first-fit strategies for bin-packing....


which one is more efficient (asymptotic complexity)?


which one generally performs better (closer to optimal no. of bins)?

9-10 (-1 for each error, up to 2 off). A general recurrence equation for the run-time of divide-and-conquer algorithms is

T(N) = aT(N/b) + Θ(Nk)

Think about the standard mergesort algorithm. For that case, what are a, b, and k in the above equation?


a =


b=


k=

